

Construct non-graded bi-Frobenius algebras via quivers

Yan-hua WANG¹ & Xiao-wu CHEN^{2†}

¹ Department of Applied Mathematics, Shanghai University of Finance and Economics, Shanghai 200433, China;

² Department of Mathematics, University of Science and Technology of China, Hefei 230026, China

(email: yhwgm@fudan.edu.cn, xwchen@mail.ustc.edu.cn)

Abstract Using the quiver technique we construct a class of non-graded bi-Frobenius algebras. We also classify a class of graded bi-Frobenius algebras via certain equations of structure coefficients.

Keywords: quivers, bi-Frobenius algebras, graded algebras.

MSC(2000): 16W30, 16G20

1 Introduction

Frobenius algebra is a very important class of finite-dimensional algebras. Typical examples are semi-simple algebras and finite-dimensional Hopf algebras. Recently, Frobenius algebras are found to have a close relation with the solutions of Yang-Baxter equation and the topological quantum field theory, see [1]. Bi-Frobenius algebras were introduced by Doi and Takeuchi^[2]. They are certain natural generalizations of finite-dimensional Hopf algebras. Roughly speaking, a bi-Frobenius algebra is a Frobenius algebra as well as a Frobenius coalgebra together with an (multiplicative and comultiplicative) anti-automorphism.

However up to now there are few examples of bi-Frobenius algebras which are not Hopf algebras besides 2.5 in [2] and 2.1 in [3]. It is well-known that the quiver is a fundamental tool to construct and study algebras and coalgebras^[4]. The application of quivers to Hopf algebras and quantum groups can be found in [5–7], where Hopf algebras and some quantum groups are constructed by quivers. An advantage for this construction is that a natural basis consisting of paths is available. Thus a natural problem arises: can we construct bi-Frobenius algebras via quivers? The first try is shown in [8], where a class of graded bi-Frobenius algebras which are not Hopf algebras are given on basic cycles. Inspired by the example in 1.7 of [5], where one can define non-graded Hopf algebras on basic cycles, we will construct a class of non-graded bi-Frobenius algebras on basic cycles over the fields of characteristic 2, see Theorem 2.4. Let us remark that bi-Frobenius algebras in Theorem 2.4 can be viewed as the deformations of the obtained bi-Frobenius algebras in [8] (in the sense of [9]). More precisely, they are graded algebra deformations^[10] of the bi-Frobenius algebras in [8] which preserve the coalgebra structure.

Recently, the classification of Hopf algebras is a quite active topic in the theory of Hopf

Received March 19, 2006; accepted July 18, 2006

DOI: 10.1007/s11425-007-2035-7

[†] Corresponding author

This work was supported in part by the National Natural Science Foundation of China (Grant Nos. 10501041, 10271113, 10601052)

algebras^[11]. Using quivers, some Hopf algebras can be classified^[5,12]. In sec. 3, we classify a class of graded bi-Frobenius algebras on basic cycles with a given coalgebra structure (over arbitrary fields), which turns out to depend on some equations of structure coefficients, see Theorem 3.1.

Throughout, let $\mathbb{K}$ be a field. All algebras and coalgebras are over $\mathbb{K}$. Let V be a $\mathbb{K}$ -space, denote $V^* = \text{Hom}_{\mathbb{K}}(V, \mathbb{K})$.

2 Non-graded bi-Frobenius algebras

Let A be a finite-dimensional algebra, and $A^* = \text{Hom}_{\mathbb{K}}(A, \mathbb{K})$. Then A^* has a natural A - A -bimodule structure given by $(af)(b) = f(ba)$, $(fa)(b) = f(ab)$, $\forall f \in A^*$, $a, b \in A$. We say that A is a Frobenius algebra provided that ${}_A A \cong (A_A)^*$ as the left A -modules, or equivalently $A_A \cong (A_A)^*$ as the right A -modules.

Let A be a Frobenius algebra with a fixed left A -module isomorphism $\Phi : {}_A A \cong (A_A)^*$. Then $\phi := \Phi(1_A)$ is a cyclic generator of ${}_A A^*$. Note that ϕ is also a cyclic generator of A_A^* . We call the pair (A, ϕ) a Frobenius algebra (if ϕ is needed to be specified), and call ϕ a Frobenius homomorphism. For more about Frobenius algebras, see [1, 2, 4].

Let C be a finite-dimensional coalgebra with a comultiplication Δ and a counit ϵ , and C^* its dual algebra. Then C is a C^* - C^* -bimodule via

$$fc = \sum c_1 f(c_2), \quad cf = \sum f(c_1) c_2 \quad \forall f \in C^*, \quad c \in C.$$

A pair (C, t) with $t \in C$ is called a Frobenius coalgebra if $C = tC^*$ or equivalently $C = C^*t$. We refer to [13] for the notation of coalgebras.

Let us recall the definition of bi-Frobenius algebras introduced by Doi and Takeuchi (see [2] and 2.2 in [14]).

Definition 2.1. *Let A be a finite-dimensional algebra and coalgebra with $t \in A$ and $\phi \in A^*$. Suppose that*

- (i) *The counit ϵ is an algebra map and 1_A is a group-like element;*
- (ii) *(A, ϕ) is a Frobenius algebra, and (A, t) is a Frobenius coalgebra with a comultiplication Δ ;*
- (iii) *the linear map $\psi : A \longrightarrow A$ given by*

$$\psi(a) = \sum \phi(t_1 a) t_2, \quad \forall a \in A \tag{1}$$

is an anti-algebra map and an anti-coalgebra map, where $\Delta(t) = \sum t_1 \otimes t_2$.

Then we call (A, ϕ, t, ψ) a bi-Frobenius algebra and the map ψ the antipode of A .

In [8], a class of (graded) bi-Frobenius algebras arising from quivers are studied. Recall some notation. Let Z_n be the basic cycle of length n , i.e. an oriented graph with n vertices $e_0, \dots, e_{n-1}$, and a unique arrow a_i from e_i to e_{i+1} for each $0 \leq i \leq n-1$. Take the indices modulo n , i.e. the indices are in the group $\mathbb{Z}/n\mathbb{Z}$. Set $\gamma_i^l := a_{i+l-1} \cdots a_{i+1} a_i$ to be the path of length l starting at the vertex e_i . Note that $\gamma_i^0 = e_i$ and $\gamma_i^1 = a_i$.

For $n, d \in \mathbb{N}$ and $d \geq 2$, let $C_d(n)$ be the subcoalgebra of the path coalgebra $\mathbb{K}Z_n^c$ with the basis of the set of all paths of length strictly less than d , see [5]. In other words, the coalgebra

$C_d(n)$ has a basis $\{\gamma_i^l, i \in \mathbb{Z}/n\mathbb{Z}, 0 \leq l < d\}$ with

$$\Delta(\gamma_i^l) = \sum_{s=0}^l \gamma_{i+s}^{l-s} \otimes \gamma_i^s, \quad \epsilon(\gamma_i^l) = \delta_{0,l},$$

where the $\delta_{i,j}$ is the Kronecker symbol for $i, j \in \mathbb{Z}/n\mathbb{Z}$. Denote by $(\gamma_i^l)^*$ the dual basis of $C_d(n)$.

The following result can be found in [8].

Lemma 2.2. $(C_d(n), \phi, t, \psi)$ is a bi-Frobenius algebra (which is not a Hopf algebra), where $\phi = (\gamma_0^{d-1})^*$, $t = \sum_{i=0}^{n-1} \gamma_i^{d-1}$, $\psi(\gamma_i^l) = \gamma_{-i-l}^l$ and the algebra structure is given by

$$\begin{cases} \gamma_i^l \gamma_j^s = \gamma_{i+j}^{l+s}, & l+s < d, \\ \gamma_i^l \gamma_j^s = 0, & l+s \geq d. \end{cases}$$

Note that the above multiplication is graded with the length grading. In what follows, we will “deform” it and obtain a class of new bi-Frobenius algebras.

Let $\mu \in \mathbb{K}$. Define a multiplication $\tilde{m} : C_d(n) \otimes C_d(n) \longrightarrow C_d(n)$ as follows:

$$\begin{cases} \gamma_i^l \gamma_j^s = \gamma_{i+j}^{l+s}, & l+s < d, \\ \gamma_i^l \gamma_j^s = \mu(\gamma_{i+j}^{l+s-d} + \gamma_{i+j+d}^{l+s-d}), & l+s \geq d. \end{cases}$$

Note that if $\mu = 0$, $\tilde{m}$ is just the multiplication in Lemma 2.2.

Lemma 2.3. $(C_d(n), \tilde{m})$ is a Frobenius algebra.

Proof. First we claim that the multiplication $\tilde{m}$ is associative. Indeed, given $\gamma_i^l, \gamma_j^s, \gamma_k^m, i, j, k \in \mathbb{Z}/n\mathbb{Z}, 0 \leq l, s, m \leq d-1$ in $C_d(n)$, we have

$$\begin{aligned} & \tilde{m}(\tilde{m} \otimes \text{Id})(\gamma_i^l \otimes \gamma_j^s \otimes \gamma_k^m) \\ &= \begin{cases} \tilde{m}(\gamma_{i+j}^{l+s} \otimes \gamma_k^m), & l+s < d, \\ \tilde{m}(\mu(\gamma_{i+j}^{l+s-d} + \gamma_{i+j+d}^{l+s-d}) \otimes \gamma_k^m), & l+s \geq d, \end{cases} \\ &= \begin{cases} \gamma_{i+j+k}^{l+s+m}, & l+s+m < d, \\ \mu(\gamma_{i+j+k}^{l+s+m-d} + \gamma_{i+j+k+d}^{l+s+m-d}), & l+s < d \text{ and } l+s+m \geq d, \\ \mu(\gamma_{i+j+k}^{l+s+m-d} + \gamma_{i+j+k+d}^{l+s+m-d}), & l+s \geq d \text{ and } l+s+m < 2d, \\ \mu^2(\gamma_{i+j+k}^{l+s+m-2d} + 2\gamma_{i+j+k+d}^{l+s+m-2d} + \gamma_{i+j+k+2d}^{l+s+m-2d}), & l+s+m \geq 2d. \end{cases} \end{aligned}$$

On the other hand,

$$\begin{aligned} & \tilde{m}(\text{Id} \otimes \tilde{m})(\gamma_i^l \otimes \gamma_j^s \otimes \gamma_k^m) \\ &= \begin{cases} \tilde{m}(\gamma_i^l \otimes \gamma_{j+k}^{s+m}), & s+m < d, \\ \tilde{m}(\gamma_i^l \otimes \mu(\gamma_{j+k}^{s+m-d} + \gamma_{j+k+d}^{s+m-d}) \gamma_k^m), & s+m \geq d, \end{cases} \\ &= \begin{cases} \gamma_{i+j+k}^{l+s+m}, & l+s+m < d, \\ \mu(\gamma_{i+j+k}^{l+s+m-d} + \gamma_{i+j+k+d}^{l+s+m-d}), & s+m < d \text{ and } l+s+m \geq d, \\ \mu(\gamma_{i+j+k}^{l+s+m-d} + \gamma_{i+j+k+d}^{l+s+m-d}), & s+m \geq d \text{ and } l+s+m < 2d, \\ \mu^2(\gamma_{i+j+k}^{l+s+m-2d} + 2\gamma_{i+j+k+d}^{l+s+m-2d} + \gamma_{i+j+k+2d}^{l+s+m-2d}), & l+s+m \geq 2d. \end{cases} \end{aligned}$$

The above two identities imply that $\tilde{m}$ is associative. Here γ_0^0 is the unit element.

Next we claim that $(C_d(n), \tilde{m}, 1 = \gamma_0^0)$ is a Frobenius algebra. In fact, for $\gamma_i^l, \gamma_j^s \in C_d(n)$, we have

$$\begin{aligned} (\gamma_i^l (\gamma_0^{d-1})^*) (\gamma_j^s) &= (\gamma_0^{d-1})^* (\gamma_j^s \gamma_i^l) = \begin{cases} (\gamma_0^{d-1})^* (\gamma_{i+j}^{l+s}), & l+s < d, \\ \mu(\gamma_0^{d-1})^* (\gamma_{i+j}^{l+s-d} + \gamma_{i+j+d}^{l+s-d}), & l+s \geq d, \end{cases} \\ &= \delta_{s+l, d-1} \bar{\delta}_{i+j, 0}, \end{aligned}$$

where $\bar{\delta}_{i,j}$ is the Kronecker symbol with the one modulo n for $i, j \in \mathbb{Z}/n\mathbb{Z}$, and hence $\gamma_i^l (\gamma_0^{d-1})^* = (\gamma_{n-i}^{d-1-l})^*$. Therefore $(C_d(n))^* = C_d(n) (\gamma_0^{d-1})^*$ and $C_d(n)$ is a Frobenius algebra (with Frobenius homomorphism $(\gamma_0^{d-1})^*$). This completes the proof.

The main result in this section is as follows.

Theorem 2.4. *Let $\mathbb{K}$ be a field of characteristic 2. (Use the notation in Lemma 2.3.) Then $(C_d(n), \phi = (\gamma_0^{d-1})^*, t = \sum_{u=0}^{n-1} \gamma_u^{d-1}, \psi)$ is a bi-Frobenius algebra with the multiplication $\tilde{m}$.*

Proof. First note that the counit ϵ is an algebra map. In fact, we have

$$\begin{aligned} \epsilon(\gamma_i^l \gamma_j^s) &= \begin{cases} \epsilon(\gamma_{i+j}^{l+s}), & l+s < d, \\ \epsilon(\mu(\gamma_{i+j}^{l+s-d} + \gamma_{i+j+d}^{l+s-d})), & l+s \geq d, \end{cases} \\ &= \begin{cases} \delta_{l+s, 0}, & l+s < d, \\ \mu(\delta_{l+s-d, 0} + \delta_{l+s-d, 0}), & l+s \geq d, \end{cases} \\ &= \delta_{l, 0} \delta_{s, 0} = \epsilon(\gamma_i^l) \epsilon(\gamma_j^s), \end{aligned}$$

for $\gamma_i^l, \gamma_j^s \in C_d(n)$. Here we use the assumption that $\text{char}\mathbb{K} = 2$. Obviously, $1 = \gamma_0^0$ is a group-like element of $C_d(n)$.

By Lemma 1.2 in [14], to prove that $(C_d(n), \phi = (\gamma_0^{d-1})^*, t = \sum_{u=0}^{n-1} \gamma_u^{d-1}, \psi)$ is a (non-graded) bi-Frobenius algebra, we just need to show that ψ is a bijective anti-algebra and anti-coalgebra map. By (1), we have

$$\begin{aligned} \psi(\gamma_i^l) &= \sum \phi(t_1 \gamma_i^l) t_2 = (\gamma_0^{d-1})^* \left(\sum_{u=0}^{n-1} \sum_{s=0}^{d-1} \gamma_{u+s}^{d-1-s} \gamma_i^l \right) \gamma_u^s \\ &= (\gamma_0^{d-1})^* \left(\sum_{u=0}^{n-1} \sum_{l \leq s} \gamma_{u+s+i}^{d-1-s+l} + \sum_{u=0}^{n-1} \sum_{l > s} \mu(\gamma_{u+s+i}^{l-s-1} + \gamma_{u+s+i+d}^{l-s-1}) \right) \gamma_u^s \\ &= \gamma_{-l-i}^l, \end{aligned}$$

for $0 \leq l \leq d-1$. That is, the antipode of $C_d(n)$ is given by $\psi(\gamma_i^l) = \gamma_{-i-l}^l$. Clearly, it is bijective.

Next, we will show that ψ is an anti-algebra and anti-coalgebra morphism. For any $i, j \in \mathbb{Z}/n\mathbb{Z}$, $0 \leq l, s \leq d-1$, we have

$$\begin{aligned} \psi(\gamma_i^l \gamma_j^s) &= \begin{cases} \psi(\gamma_{i+j}^{l+s}), & l+s < d, \\ \mu(\psi(\gamma_{i+j}^{l+s-d}) + \psi(\gamma_{i+j+d}^{l+s-d})), & l+s \geq d, \end{cases} \\ &= \begin{cases} \gamma_{-i-j-l-s}^{l+s}, & l+s < d, \\ \mu(\gamma_{-i-j-l-s+d}^{l+s-d} + \gamma_{-i-j-l-s}^{l+s-d}), & l+s \geq d \end{cases} \end{aligned}$$

and

$$\psi(\gamma_j^s)\psi(\gamma_i^l) = \gamma_{-j-s}^s \gamma_{-i-l}^l = \begin{cases} \gamma_{-j-s-i-l}^{s+l}, & s+l < d, \\ \mu(\gamma_{-j-s-i-l}^{s+l-d} + \gamma_{-j-s-i-l+d}^{s+l-d}), & s+l \geq d. \end{cases}$$

Thus ψ is an anti-algebra map.

To see that ψ is an anti-coalgebra map, just note that

$$\Delta(\psi(\gamma_i^l)) = \Delta(\gamma_{-i-l}^l) = \left(\sum_{s=0}^l \gamma_{-i-l+s}^{l-s} \otimes \gamma_{-i-l}^s \right)$$

and

$$(\psi \otimes \psi)T\Delta(\gamma_i^l) = \sum_{s=0}^l (\psi \otimes \psi)(\gamma_i^s \otimes \gamma_{i+s}^{l-s}) = \sum_{s=0}^l (\gamma_{-i-s}^s \otimes \gamma_{-i-l}^{l-s}),$$

where T is the flip. This completes the proof.

3 A class of graded bi-Frobenius algebras

It is known that there are many multiplications on the coalgebra $C_d(n)$ such that it becomes a bi-Frobenius algebra, see [5, 8]. Thus it is an interesting problem to ask, for a given coalgebra, how many algebra structures one can assign to the coalgebra $C_d(n)$ such that it becomes a bi-Frobenius algebra, or some similar problems under more restrictions.

In this section, we still consider the coalgebra $C_d(n)$, and classify a class of graded algebra structures on it such that $(C_d(n), \phi = (\gamma_0^{d-1})^*, t = \sum_{i=0}^{n-1} \gamma_i^{d-1}, \psi(\gamma_i^l) = \gamma_{-i-l}^l)$ becomes a bi-Frobenius algebra. Moreover, we require that γ_0^0 is the unit. Recall that $C_d(n)$ is graded by the length grading, see sec. 2.

Let $\mathbb{K}$ be an arbitrary field. Denote $A = C_d(n)$. Assume that the graded algebra structure of (A, ϕ) is given by $\gamma_i^l \gamma_j^s = P(i, l, j, s) \gamma_{F(i, l, j, s)}^{l+s}$, for $i, j \in \mathbb{Z}/n\mathbb{Z}$, $0 \leq l, s \leq d-1$, $P(i, l, j, s) \in \mathbb{K}$, $F(i, l, j, s) \in \mathbb{Z}/n\mathbb{Z}$. (Here we assume that $\gamma_i^l \gamma_j^s = 0$ if $l+s \geq d$, that is, $P(i, l, j, s) = 0$ whenever $l+s \geq d$.)

Note that $1 = \gamma_0^0$ is the unit element of the algebra A , hence

$$\gamma_i^l \gamma_0^0 = P(i, l, 0, 0) \gamma_{F(i, l, 0, 0)}^l = \gamma_0^0 \gamma_i^l = P(0, 0, i, l) \gamma_{F(0, 0, i, l)}^l = \gamma_i^l.$$

Thus we obtain

$$F(i, l, 0, 0) = F(0, 0, i, l) = i \quad (2)$$

and

$$P(i, l, 0, 0) = P(0, 0, i, l) = 1. \quad (3)$$

By the associativity of the multiplication, we get

$$\begin{aligned} (\gamma_i^l \gamma_j^s) \gamma_h^m &= P(i, l, j, s) \gamma_{F(i, l, j, s)}^{l+s} \gamma_h^m \\ &= P(i, l, j, s) P(F(i, l, j, s), l+s, h, m) \gamma_{F(F(i, l, j, s), l+s, h, m)}^{l+s+m} \\ &= \gamma_i^l (\gamma_j^s \gamma_h^m) \\ &= \gamma_i^l P(j, s, h, m) \gamma_{F(j, s, h, m)}^{s+m} \\ &= P(j, s, h, m) P(i, l, F(j, s, h, m), s+m) \gamma_{F(i, l, F(j, s, h, m), s+m)}^{l+s+m}. \end{aligned}$$

Then we obtain

$$F(F(i, l, j, s), l + s, h, m) = F(i, l, F(j, s, h, m), s + m) \quad (4)$$

and

$$P(i, l, j, s)P(F(i, l, j, s), l + s, h, m) = P(j, s, h, m)P(i, l, F(j, s, h, m), s + m). \quad (5)$$

By the definition of ψ , we have

$$\begin{aligned} \gamma_{-i-l}^l &= \psi(\gamma_i^l) = \sum \phi(t_1 \gamma_i^l) t_2 = (\gamma_0^{d-1})^* \left(\sum_{j=0}^{n-1} \sum_{m=0}^{d-1} \gamma_{j+m}^{d-1-m} \gamma_i^l \right) \gamma_j^m \\ &= (\gamma_0^{d-1})^* \left(\sum_{j=0}^{n-1} \sum_{m=0}^{d-1} P(j+m, d-1-m, i, l) \gamma_{F(j+m, d-1-m, i, l)}^{d-1-m+l} \right) \gamma_j^m \\ &= \sum_{j=0}^{n-1} P(j+l, d-1-l, i, l) \delta_{0, F(j+l, d-1-l, i, l)} \gamma_j^l. \end{aligned}$$

Hence

$$F(-i, d-1-l, i, l) = 0, \quad P(-i, d-1-l, i, l) = 1 \quad (6)$$

and

$$F(-i', d-1-l, i, l) \neq 0, \quad P(-i', d-1-l, i, l) \neq 1, \quad \forall i' \neq i. \quad (7)$$

By the condition that ψ is an anti-algebra morphism, we have

$$\begin{aligned} \psi(\gamma_i^l \gamma_j^s) &= P(i, l, j, s) \psi(\gamma_{F(i, l, j, s)}^{l+s}) = P(i, l, j, s) \gamma_{-l-s-F(i, l, j, s)}^{l+s} \\ &= \psi(\gamma_j^s) \psi(\gamma_i^l) = \gamma_{-j-s}^s \gamma_{-i-l}^l = P(-j-s, s, -i-l, l) \gamma_{F(-j-s, s, -i-l, l)}^{s+l}. \end{aligned}$$

This implies that

$$-l-s-F(i, l, j, s) = F(-j-s, s, -i-l, l) \quad (8)$$

and

$$P(i, l, j, s) = P(-j-s, s, -i-l, l). \quad (9)$$

In summary, combining all the above conditions, we get

$$(i) \quad \begin{cases} F(i, l, 0, 0) = F(0, 0, i, l) = i, \\ F(F(i, l, j, s), l + s, h, m) = F(i, l, F(j, s, h, m), s + m), \\ F(-i, d-1-l, i, l) = 0, \\ F(-i', d-1-l, i, l) \neq 0, \quad \forall i' \neq i, \\ -l-s-F(i, l, j, s) = F(-j-s, s, -i-l, l) \end{cases}$$

and

$$(ii) \quad \begin{cases} P(i, l, 0, 0) = P(0, 0, i, l) = 1, \\ P(i, l, j, s)P(F(i, l, j, s), l + s, h, m) \\ \quad = P(j, s, h, m)P(i, l, F(j, s, h, m), s + m), \\ P(-i, d-1-l, i, l) = 1, \\ P(-i', d-1-l, i, l) \neq 1, \quad \forall i' \neq i, \\ P(i, l, j, s) = P(-j-s, s, -i-l, l). \end{cases}$$

Note that $i, j, h \in \mathbb{Z}/n\mathbb{Z}$ and $0 \leq l, s, m \leq d-1$. We note that ψ is always an anti-coalgebra morphism, see the proof of Theorem 2.4. By comparing the above argument with Definition 2.1, and using Lemma 1.2 in [14], we have the main theorem of this section.

Theorem 3.1. Assume that the multiplication of the coalgebra $C_d(n)$ is

$$\gamma_i^l \gamma_j^s = P(i, l, j, s) \gamma_{F(i, l, j, s)}^{l+s}, \quad \forall i, j \in \mathbb{Z}/n\mathbb{Z}, \quad 0 \leq l, s \leq d-1,$$

where $P(i, l, j, s) \in \mathbb{K}$, $F(i, l, j, s) \in \mathbb{Z}/n\mathbb{Z}$ with $P(i, l, j, s) = 0$ whenever $l + s \geq d$.

Then $(C_d(n), \phi = (\gamma_0^{d-1})^*, t = \sum_{i=0}^{n-1} \gamma_i^{d-1}, \psi(\gamma_i^l) = \gamma_{-i-l}^l)$ becomes a (graded) bi-Frobenius algebra if and only if F and P satisfy (i) and (ii) respectively.

Remark 3.2. (1) Note that $F(i, l, j, s) = i + j$, $P(i, l, j, s) = 1$ (for $i, j, h \in \mathbb{Z}/n\mathbb{Z}$, $0 \leq l, s, m \leq d-1$ and $l + s < d$) are the solutions of the equations above, see [7].

(2) Assume that $\text{char } \mathbb{K} = 0$. Suppose that the order of q is d and $d|n$. Let $\binom{m}{l}_q = \frac{m!_q}{(m-l)!_q l!_q}$ be Gauss coefficients. Then $F(i, l, j, s) = i + j$, $P(i, l, j, s) = q^{lj} \binom{m}{l}_q$ are also the solutions of the equations above, see [5]. Here we note that a finite-dimensional Hopf algebra is bi-Frobenius.

(3) By a similar argument, one can also obtain the classification of non-graded bi-Frobenius algebras on $C_d(n)$ via finding the equations of structure coefficients.

Acknowledgements We would like to thank the referees for their helpful comments.

References

- [1] Chen X W, Huang H L, Wang Y H. A note on modules, comodules and cotensor products over Frobenius algebras. *Chin Ann Math Ser B*, **27**(4): 419–424 (2006)
- [2] Doi Y, Takeuchi M. Bi-Frobenius algebras. *Contemp Math, AMS*, **267**: 67–97 (2002)
- [3] Doi Y. Bi-Frobenius algebras and group-like algebras. In: Hopf Algebras. Lecture Notes in Pure and Appl Math, Vol. 237. New York: Dekker, 2004. 143–155
- [4] Auslander M, Reiten I, Smalø S O. Representation Theory of Artin Algebras. Cambridge Studies in Adv Math 36. Cambridge: Cambridge Univ Press, 1995
- [5] Chen X W, Huang H L, Ye Y, Zhang P. Monomial Hopf algebras. *J Algebra*, **275**: 212–232 (2004)
- [6] Chen X W, Huang H L, Zhang P. Dual Gabriel Theorem with applications. *Sci China Ser A-Math*, **49**(1): 9–26 (2006)
- [7] Chin W, Montgomery S. Basic coalgebras, Modular interfaces (Reverside, CA). 1995, 41–47, AMS/IP Stud Adv Math 4. Providence: Amer Math Soc, 1997
- [8] Wang Y H, Zhang P. Construct bi-Frobenius algebras via quivers. *Tsukuba J Math*, **28**(1): 215–221 (2004)
- [9] Gerstenhaber M. Deformations of rings and algebras. *Ann Math*, **79**(2): 59–103 (1964)
- [10] Braverman A, Gaiitsgory D. Poincaré-Birkhoff-Witt theorem for quadratic algebras of Koszul type. *J Algebra*, **181**: 315–328 (1996)
- [11] Schneider H J. Lectures on Hopf algebras. Córdoba: University of Argentina, 1995. 52
- [12] Liu G X, Ye Y. Monomial Hopf algebras over fields of positive characteristic. *Sci China Ser A-Math*, **49**(3): 320–329 (2006)
- [13] Dăscălescu S, Năstăsescu C, Raianu S. Hopf Algebras: An Introduction. New York-Basel: Marcel Dekker, 2000
- [14] Doi Y. Substructures of bi-Frobenius algebras. *J Algebra*, **256**: 568–582 (2002)